Copying of this document and giving it to others ond the use or communication of the contents thereof, are forbidden without express

authority. Contravention of this resfriction will constitute on evident abuse ond result in a liability to the payment of domages. &l rights
are reserved in the event of the grant of palent or registration of o ufility model or design. This document is the subject of copyright.

Non e permesso consegnare o terzi ¢ riprodurre questo documento, ne ubilizzarme il conteruto o renderlo comunque rote o terzi
senzo auforizzozions esplicita. Cgni infraziong costituira un evidents ohuse @ comportera il risar ciménto dei darni subiti.

E'fotte riserva o futti i dirifti derivanti do brevetti o modelli.

- 135.1 -
184+0.2
- 263 _ - 120 o
15
- 120.7£0.25 o - 10 - I
| 131 ol 86
D17+0.25 i
_ i
é uil
[ - - - \ -
2 - — el —
2 ) |
=
\/ | -
| i
| Q(K | v - 18
1 | T —]
|
- -
| | B
. 265 _ 6
] - 3 N
jN— i || '
g X A W’l I |
o —_
S | ! O —
) & 2 N2,
S . 9 gl
— — QN
% o & o \ 0 oe|
o - - | oz R
D-D S| 0 - o
(et Q H l [ [l
[ : -
o
— Ty NN I
| - = {} @ = T i 1%45°
b ! N S 9 o | /
L),
;“ R - /7 10.08 b
5 & ‘ o
=
\ O (90.05[J F o
.
' —_ — —_ —_ — —_ — —_ _ — — * — _ — — — ‘
9.5 — - o)
o o125 5
32.541 </\
45,74
— 0 -— 9
- 78.75 - =
- 135 -
- 159 -
fightening torque width over flats note
Anziehdrehmoment SW Bemerkung
couple de serrage surplafs remarque
coppia di Serraggio misura chiave annotazione
@ 290 + 20 Nm 24 DIN 961 brake mounting Bremsenbefestigung fixation du frein fissaggio freno
23 150 8676 Mo x 1.5 x ... - 10.9 Mo x 1.5 x ... - 10.9 Mie x 1.5 x ... - 10.9 M6 x 1.5 x ... - 10.9
fightening order Anziehreihenfolge ordre de serrage sequenza di serraggio
@ @ 340 £ 20 Nm 14 1. Iong oolt DIN 212-M16x1.5x80-12.9 1. Bolzen Iang DIN 912-MIGx1.5%80-12.9 1. oxe Iong DIN 912-M16x1,5¢80-12.9 1. Vi.ﬂ. Iunghe DIN 912-M16x1.5x80-12.9
2. short bolf 2. Bolzen kurz 2. axe courf 2. viti corte
// <3> 68 + 5 Nm E cover fixing Deckelbefestigung fixation couvercle fissaggio coperchio
i DIN 34800 - MIOx1x40-12.9 | DIN 34800 - MIOx1x40-12.9 | DIN 34800 - MI0x1x40-12.9 | DIN 34800 - MIOx1x40-12.9
) operation cylinder Befaetigungszylinder actionneur cilindro operatore
-+ - i <4> 210 -30 Nm 24 M16x1.5 M16X1.5 M16x1.5 M16x1.5
. <5> max. rotary outling @ envelope circle carrier @ forward drive - rotation direction
_______——f""g maximale Rotationskontur Huellkurve Bremsentraeger Vorwaerts Drehrichtung
<>_ i profil enveloppe maximal enveloppante  support sens de rofation marche avont
rofazione profilo massimo incombro- supporto rotazione in avanti
@ max. displacement @ hexagon width over flats 8 mm brake actuator size restriction see part specification
maximale Verschiebung Sechskant SW 8 640 225 007 O mox. actuator type 24
% ] deplacement maximal tete hexagonale (surplats 8) Zylinderanschlussmasse nach Part Spezifikation
—— max. mavimento esagono SW 8 640 225 007 0 mox. Zylinder Typ 24
L . . , dimension de connexion de cylindre de frein part specification
fifting dimension of fhe disc for storage and shipment 640 225 Q0T O limifation faille de cylindre, mox. acceptee type 24
Scheibeneinbaumass | fuer Transport und Lagerung per misure di collegamento dell’attuatore freno vedere le specifiche
dimension de montage du disque pour transport et stockage 640 225 Q07 O cilindro max. tipo 24
quota fissaggio disco per stoccaggio e frasporto
M~ brake disc new 45-0.2, weardble up fo 37 @ maximum disc clearance
5 Bremsscheibe neu 45-0.2, verschleissbar bis 37 Scheibenfreigang
LQ disque neuf 45-0.2, a user jusqu a 37 course libre du disque
hY disco freno nuovo 45-0.2, usurabile fing 37 max. dimensione installazione disco Produkt-Spezifikation 640 225 007 O
<9> assernbly dimension for broke pads center line cylinder product-specification 640 225 007 O
Einbaumass fuer Bremsbelaege Mitte Zylinder
dimension de montage des garnifures axe median actionneur dimensions without tolerances are gauge dimensions
‘ dimensione assemblaggio pastiglie freno centro cilindro nicht tolerierte Masse = Lehrenmasse
SRR, dimensions non folerancees = calibres
E;?%Uzgicﬁi%flWXEEOWABCO (WADED & G ) 1) customer no. le dimensioni senza tolleranza sono quelle rifertite al calibro
identification WABCO 2 =1 undennJmmer
identificazione prodotto WABCO —3) 28° cHer?Tleen mirror image
: : : ’ Spiegelbild
envelope circle caliper with caver - 040 225 063 O image inversee
@ Huellkuprve Bremssotpfel mit Deckel 2) date of monufacturing immagine riflessa
enveloppante etrier avec couvercle Herstelldafum o, Sho'wr? t
. wie gezeichne
incombro pinza con coperchio 3813 ?gbgﬁgggigggn 640 225 062 O cormie Sggﬁ},ﬁ
3) WABCO ident number Mo’irgsigrl:nN? bé?é?nse r?grfgjg;nn%rmg'?e-r Austgﬁrl?ngrygEemse
WABCO- Ident-Nr, reference frein no. du client varionte de frein
reference WABCO codice materigle freno no. cliente versione freno
numero identificativo WABCO PAN 22-1| e s T
Sur‘fherl '?Schnfica\t Data: — Dote > tJm| WAECZignmum WA Bco
COGhng — Genercl TO|8FC1HC|BSShj?[;—261 = 2013_01_31 Dr(iwn BOCk glcshcelngg?@ﬂi?le\l_;%l?\lgeRéllagt |e|ChT
Checked -
anti-corrosion profecﬂorg3 - EQIL Tsproy fest min. 96 hours Range of Nomgﬂ‘ D*;ﬂ;gsims (= mm) 2013-02-18E | | Redemann | Frein o disque PAN-type gamme basse
= b > ¥pBr . . .
Korrosionsschufz—Solzs%srﬁeﬁnegg?pruef. min. 96 Std. doss w1 |« 50 |5 80 |< 400)- 400 <L Redermann Pinzo freho 0 disco fipo PAN 'egge,m
orofestion O surfoce |
: Medim 0 [z20]30 a0 £ ' 11
ferue BS 96 h min i |10 120 130 LA =) 640 225 062 O 053 | ML | 1/1
protezione contro lo corrosione - prova di resistenza dlla nebbio salina dopo clmeno 96 h || e e AO | o [ HD T o0 T o1 e —

qutorisation expresse. Tout mongquement o cette regle constitue un ohus evident &F expose son oufewr ou wersement de dommagas af

inferefs. Tous draits de propriete industrielle reserves, notamment en matiere de brevets et de modsles.
nicht ausdruecklich zugestonden. Zuwiderhandlungen stellen einen offensichtlichen Missbrauch dor und werpflichfen zu Schodenersatz.

Toute Communication ou reproduction de ce document, foute exploitation ou communication de son contenu sont interdites, souf
Alle Rechte fuer den Fall der Potenterteilung oder Gebrouchsmuster-Eintragung vorbehalten.

Weerqube sowie Vervielfaeltigung dieser Unterloge, Verwertung und Miteilung ihres Inhalts nicht gestaltel, soweit

2 3 | 5 6 7 3 9 10 11 2 13 14 15 16 Rl 18 19 20 21 = T




